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Vertical Division Name:
Solve each problem. Answers
1) 2) 3)
1
801640 30(390 401403
2.
3.
4,
5.
4) 5) 6)
6.
901326 40679 801415
7.
8.
9.
10.
7) 8) 9
11.
701881 40516 10|790
12.
10) 11) 12)
800|160 201420 701490
1-10 | 9283 75|67 [58[50] 4233|2517 |
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Vertical Division Name: Answer Key
Solve each problem. Answers
b 8 2) 13 3 10r3 3
80[640 30[390 20403 "
0 0 0 2 13
64 39 40
0 30 40 3 _ 1013
640 90 03 . 3156
640 90 0
0 0 3 5 16 r39
4 3r56 5) 16139 6) 5r15 . 515
90[326 40679 80[415 |
0 0 0 . 12r41
32 67 41
0 40 0 8. 12136
326 279 415 . 79
270 240 400
56 39 15 o 2
7) 12r41 8) 12r36 9) 79 . 21
70[881 40516 10[790 |
0 0 0 12 7
88 51 79
70 40 70
181 116 90
140 80 90
41 36 0
10) 2 11) 21 12) 7
80[160 20[420 70[490
0 0 0
16 42 49
0 40 0
160 20 490
160 20 490
0 0 0
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Vertical Division

Name:

Solve each problem. Answers
5ri15 3 r56 13
16 r39 12 r36 8 1.
79 10 r3 12 r41
1) 2) 3) z
801640 30(390 401403 3
4,
5.
6.
7.
8.
4) 5) 6)
900|326 40679 801415 9.
7) 8) 9)
701881 40516 10|790
M odified 1-9 [89|78[67[56|44][33[22[11] 0 |
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